L’ Arrondissement (G)
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Arrondissez chaque nombre ci-dessous a la centaine pres.

229 225
496 490
121 4247
4277 7989
4322 6174
44 444 57306
70953 55990
27922 837152
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L’ Arrondissement (G) Solutions

217
200

504
500

588
600

9804
9800

3314
3300

67739
67700

47122
47100

10919
10900

Arrondissez chaque nombre ci-dessous a la centaine pres.

229 225
200 200
496 490
500 500
121 4247
100 4200
4277 7989
4300 8 000
4322 6174
4300 6200
44 444 57 306
44 400 57300
70953 55990
71 000 56 000
277922 837152
27900 837200

712
700

325
300

2791
2 800

9792
9800

5438
5400

99 822
99 800

92 442
92 400

402 660
402700
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